D-SUB Hoobps AND ACCESSORIES

D-SUB Prastic HooD
Straight cable entry — 9-50 pos. — With jack screws

B

Ji;mq -

&

I~

o

=

~ >
-~ 3

S5
3 <
Lt o d

DESCRIPTION

RoHS compliant — CSA listed, File No.: LR 115000-1 — UL listed, File No.: E202784

PRODUCT DRAWING

m  Two-part plastic hood
m  Integrated cable clamping
m  Material:

- Plastic hood grey/black: Polyamide + Glas filled, UL 94 V-0

- Plastic hood metallized: ABS, UL 94 V-0
m  Fastening:

- 4-40 UNC jack screw

- M3 jack screw

Bulk or single packaged units

No. of pos. A B C D E OF
@ @ 09 34.00 25.00 25.00 2775 14.50 8.50
15 4230 3330 3700 39.75 14.50 10.00
25 56.00 47.00 3700 39.75 14.50 10.50
e a 37 72.50 63.50 37.00 3975 14.50 10.50
i 50 67.00 61.10 49.10 51.40 19.80 14.00
G'OQ[IQ”EG‘
SN
l .
4-40 UNC
M3
B
}
F
1
S 4 —| )
!
A
ORDER DATA

D-SUB PLASTIC HOOD — STRAIGHT CABLE ENTRY

No. of pos. Design

09 Black housing /4-40 UNC Jack screw
15 Black housing /4-40 UNC Jack screw
25 Black housing/ 4-40 UNC Jack screw
37 Black housing/4-40 UNC Jack screw
50 Black housing/4-40 UNC Jack screw
09 Black housing/ M3 Jack screw
15 Black housing /M3 Jack screw
25 Black housing /M3 Jack screw
37 Black housing/ M3 Jack screw
50 Black housing/ M3 Jack screw
09 Grey housing / 4-40-UNC Jack screw
15 Grey housing / 4-40-UNC Jack screw
25 Grey housing/ 4-40-UNC Jack screw
37 Grey housing/ 4-40-UNC Jack screw
50 Grey housing / 4-40-UNC Jack screw
09 Grey housing /M3 Jack screw
15 Grey housing /M3 Jack screw
25 Grey housing/ M3 Jack screw
37 Grey housing/ M3 Jack screw
50 Grey housing /M3 Jack screw

For single packaged add the letter ,E" at the end of the part number.

CONEC®

10| 14

Part Number

165 X 10139 X
165 X 10149 X
165 X 10159 X
165 X 10169 X
165 X 10179 X
165 X 10189 X
165 X 10199 X
165 X 10209 X
165 X 10219 X
165 X 10229 X
165 X 14109 X
165 X 14119 X
165 X 14129 X
165 X 14139 X
165 X 14149 X
165 X 14159 X
165 X 14169 X
165 X 14179 X
165 X 14189 X
165 X 14199 X

D-SUB PLASTIC HOOD — STRAIGHT CABLE ENTRY - METALLIZED

No. of pos. Design

09 Metallized housing /4-40 UNC Jack screw
15 Metallized housing / 4-40 UNC Jack screw
25 Metallized housing 7 4-40 UNC Jack screw
37 Metallized housing / 4-40 UNC Jack screw
50 Metallized housing / 4-40 UNC Jack screw
09 Metallized housing /M3 Jack screw
15 Metallized housing /M3 Jack screw
25 Metallized housing/ M3 Jack screw
37 Metallized housing/ M3 Jack screw
50 Metallized housing/ M3 Jack screw

Part Number

165 X 10909 X
165 X 10919 X
165 X 10929 X
165 X 10939 X
165 X 10949 X
165 X 10959 X
165 X 10969 X
165 X 10979 X
165 X 10989 X
165 X 10999 X



